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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Semester -III  Examination January- 2010 

 

Subject code:335904 

Subject "ame: Textile Process -II 
Date: 23 / 01 / 2010                     Time: 11.00 am – 1.30 pm   

                        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version Authentic 

 

Q.1  Give reasons.  

 (a) Azoics are known as Ice colors. 04 

 (b) Vat dyes have excellent fastness properties. 05 

 (c) While dyeing with reactive dyes, soda ash is added at the end 
of dyeing. 

05 

    

Q.2 (a) Give classification of Bleaching agents. 07 

 (b) Compare vat dyes with solubilised vat dyes. 07 

  OR  

 (b) Write short note on Pigment dyeing. 07 

    

Q.3  Enumerate the dyes which can suitably be applied to cotton 
fibre-fabrics.  Describe any one of them in detail. 

14 

  OR  

Q.3  Write short note on the following.  

 (a) Jigger dyeing machine. 07 

 (b) Winch dyeing machine. 07 

    

Q.4  State and explain the factors which influence the rate of 
dyeing. 

14 

  OR  

Q. 4  Write short note on any TWO.  

 (a) Dyeing of polyester by carrier dyeing method. 07 

 (b) Dyeing of silk. 07 

 (c) Dyeing of nylon. 07 

    

Q.5 (a) Write advantages of Gas singeing machine over Plate and 
Roller singeing machine. 

10 

 (b) Define Dyes and Dyeing. 04 

  OR  

Q.5 (a) What is percentage shade?  What is the function of leveling 
agent? 

04 

 (b) Why dyeing is carried out using short liquor ratio. 05 

 (c) Why oxidation stage is essential in vat dyeing. 05 
******** 
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;}RGF;}RGF;}RGF;}RGF: 
1. TDFD 5FTDFD 5FTDFD 5FTDFD 5F\\\\R 5||`GMGF R 5||`GMGF R 5||`GMGF R 5||`GMGF HJFA OZHLIFT K[HJFA OZHLIFT K[HJFA OZHLIFT K[HJFA OZHLIFT K[.  
2. H~Z H6FI tIFH~Z H6FI tIFH~Z H6FI tIFH~Z H6FI tIF\\\\ IYFIMuI WFZ6FVM AF IYFIMuI WFZ6FVM AF IYFIMuI WFZ6FVM AF IYFIMuI WFZ6FVM AF\\\\WJWJWJWJLLLL. 
3. HD6HD6HD6HD6L AFH] NX¶FJ{, VFL AFH] NX¶FJ{, VFL AFH] NX¶FJ{, VFL AFH] NX¶FJ{, VF\\\\S0F 5||`GMGF 5}ZF U]6 NX¶FJ[ K[S0F 5||`GMGF 5}ZF U]6 NX¶FJ[ K[S0F 5||`GMGF 5}ZF U]6 NX¶FJ[ K[S0F 5||`GMGF 5}ZF U]6 NX¶FJ[ K[. 
4. VVVV\\\\U|[HL 5+ VFWFZE}T U6FX[PU|[HL 5+ VFWFZE}T U6FX[PU|[HL 5+ VFWFZE}T U6FX[PU|[HL 5+ VFWFZE}T U6FX[P 

 

5|`Gv!5|`Gv!5|`Gv!5|`Gv!        નીચેના િવષે કારણો આપો  

 અ    એઝોઈક ડાયઝને  આઇસ કલસ� તર�ક ઓળખવામા ંઆવે!  છે. ૦૪ 
 બ    વેટ ડાઇઝ ની ફા)ટનેસ *ોપટ+ ,બજ સાર� હોય છેુ .  ૦૫ 
 ક    ર�એ1ટ�વ ડાઇઝ 2 ડા3ગ કરતી વખતે સોડા એશ 6તમા ંઉમેરવામા ંુ

આવે છે. 

૦૫ 

          

5|`GvZ5|`GvZ5|`GvZ5|`GvZ    VVVV    8લીચ9ગ એજ:ટ 2 વગ;કરણ કરોુ . ૦૭ 
 AAAA    વેટ ડાઇઝ અને સો=>8લાઇ?ડ વેટ ડાઇઝ ની @લના કરો ુ ુ  ૦૭ 
  VYJFVYJFVYJFVYJF     

 AAAA    પીગમAટ ડા3ગ િવષે Bંક નCધ લખોૂ . ૦૭ 
          

5|`Gv#5|`Gv#5|`Gv#5|`Gv#     કોટન ફાઇબર-ફGીક પર ! યોHય ર�તે ચઢાવી શકાય તેવી ડાયઝ ના 

નામ આપો.  તે પૈક� કોઇ પણ એક િવષે સિવ)તાર લખો. 

૧૪ 

     VYJFVYJFVYJFVYJF  

5|`Gv#5|`Gv#5|`Gv#5|`Gv#        નીચેના િવષે Bંક નCધ લખોૂ    

 VVVV    Lગર ડા3ગ મશીન ૦૭ 
 AAAA    વી:ચ ડા3ગ મશીન ૦૭ 
       

5|`Gv$5|`Gv$5|`Gv$5|`Gv$        ડા3ગના દર પર અસર કરતા પNરબળો જણાવો અને સમOવો.  ૧૪ 
     VYJFVYJFVYJFVYJF  

5|`Gv$5|`Gv$5|`Gv$5|`Gv$        કોઇ પણ બે િવષે Bંક નCધ લખોૂ .  

 VVVV    કNરયર ડા3ગ પPિત Qારા ! પોRલએ)ટર2 ંડા3ગ ુ  ૦૭ 
 AAAA    િસ=ક 2 ંડા3ગુ  ૦૭ 
 ક    નાયલોન2 ંડા3ગુ  ૦૭ 
          

5|`Gv55|`Gv55|`Gv55|`Gv5    VVVV    Sલેટ અને રોલર સ9Lગ મશીન સામે ગેસ સ9Lગ મશીન ના 

ફાયદાઓ,  @લના કર� લખોુ . 

૧૦ 

 AAAA    ડાઇઝ અને ડા3ગ ની UયાVયા આપો. ૦૪ 
     VYJFVYJFVYJFVYJF  

5|`Gv55|`Gv55|`Gv55|`Gv5    VVVV    પરસે:ટજ શેડ W ંછે ! ુ ? લેવલ9ગ એજ:ટ 2 ંફ1શન W ંછે ુ ં ુ ? ૦૪ 
 AAAA    ડા3ગ કરતી વખતે શોટ�  લીકર રશીયો શા માટ રાખવા મા ંઆવે છે ! ! ? ૦૫ 
 ક    વેટ ડા3ગ કરતી વખતે ઓY1સડશન )ટજ 2 મહZવ W ંછે ! ! ુ ુ ? ૦૫ 

******** 


